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(i) Full form of SAARC

SAARC ®1 QU A
(i) What do you mean by Opportunity cost.
SFIHT T Y AT N FHAS &7

(iv) What is Leontief Paradox?

Rialifes fEamwg & &7

(v) Define Mill's paradox.

foret &1 Rkrerarg @ oy St

(vi) What is Exchange Depreciation?
\

fferm g B @ R?
(vii) Dine Marshall-Lerner condition.
AiA-TT R B IR el

(viii) What do you mean by Export Promotion?

Frafa T § o9 91 g9 &7

Section-B
(Short Answer Questions)

.zoﬂm" Answer any four questions. Each answer should be given
in 200 words. Each question carries 8 marks.  4x8=32

(7 Swda 9%)
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What is the importance of terms of trade?

MR H 94 H M TS &

Explain the empirical verification of comparative cost
advantage theory of international trade.

SRS AR & e A @ e & g
HHTT B TR

What do you meant by import quota? Discuss its different
types. . '

ST ST | AT A G B? saa R W & avie
ol

Discuss the concept of Optimum tariff.

SR AGEE 1 SEERen B REe S

What are the gains of International trade? Explain.

IR AR B P-4 W &7 e Hiod|

What are the main benefits from import substitution.
ST SR § g @ a8

What are the mean of trade diversion and trade creation?

qR-Ren gREd qd =GR o W | a8

What are the main conditions for success of devaluation?

S B A B A O 8
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